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VERY IMPORTANT!

Check which holes the spring is hooked up to, referring to Table “A” (if a sin-
gle accessory is installed), or to Table “B” (if multiple accessories are instal-
led). If the result does not conform, move the spring to the correct holes.

M3BAR / M5BAR
M ’?;»‘ 2,65m 3,15m 3,50m 4,15m 5,A5m 7,33m 9,33m
ﬁ XBA15} XBA15 I XBA14} XBA14 I XBAS5 I -XBA15 I -XBA14 I
CBA ABC (3,15m) -0,50m 3,15m) (4,15m) -0,65m (4,15m) (5,15m) +XBA14 + XBAS5

M7BAR / LBAR

?;»‘ 3,50m 415m 515m 5,00m 6,33m 7,33m 8,33m
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XBA14 XBA14 XBA5 XBA15+XBA15 XBA15 XBA15 XBA14
(4,15m) -0,65m (4,15m) (5,15m) (6,30m) -1,30m + XBA15 + XBA14 + XBA14
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ckets in the column, choosing :;:;B: . B o 2_A 0,28 B 0,28 B 0,28 A 0528 A

only thosg cqrrespondlng to the ' 2! 3 2 j 1 1 1 3

accessories installed. : T

’: B: C A B B A B

- v 2:7= “H2:4= 3:5= 3:5= 3:5= 3:4= 3:6= -

2 - Use the sum of these num- 3 1 2 2 2 2 1

bers to identify the holes to - C A A

which to anchor the spring. : 3| 5+6= o 6:7= 3 5+6= 3
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